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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

3- ferrdt frmpfist T mimerys

1. ¥a g x-d 3 AfE3 J1 fere yfogen nid »i3
z-fsgen vig ot 75?7

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qK8LRY2bUx3n

2. g g xz38 f&g J fene y-fogdn wig & g9
3H1 df afg Aae 9?7

° Watch Video Solution

3. 8a& miae fdfimit T of €1 fios few Jo 5
fang do: (1’ 2’ 3),(4’ -2’ 3), (4a -2,-5)’ (4, 2, -5)’ (- 4,

2,-5),(-4,2,5),(-3,-1,6) (-2,-4,-7)

° Watch Video Solution



https://dl.doubtnut.com/l/_qK8LRY2bUx3n
https://dl.doubtnut.com/l/_MM6aN0AdR5RJ
https://dl.doubtnut.com/l/_Kbq2gNN4nhwL
https://dl.doubtnut.com/l/_QOq9cbihGUjB

4, Y8 HE'S 33:- x-gaT M3 y-gdT de H3a fid

o Watch Video Solution

5. U®t HE'G 39:- XY-38 €9 fix fig @ fagen

ma gy feg de &l

1
-

° Watch Video Solution



https://dl.doubtnut.com/l/_QOq9cbihGUjB
https://dl.doubtnut.com/l/_t4UmOQzAQprk

6. ¥y8l A& 39- fogewm »ia 3B wdH

3 fafimi feg €3< a5

o Watch Video Solution

7. 35 faa fdg € fanf € fegdrg gt uzT dd:- (2,
3,5) M3 (4,3,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_BINYqmF23voB
https://dl.doubtnut.com/l/_QQ0Lc62GKHlC

8.d5 &9 fig 2 Afan 2 fegarg gt usT ad:- (-3,

7,2) M3 (2, 4,-1)

o Watch Video Solution

9. I faa fig & dfantt € fegarg gdt U3 d4:-
(-1,3,-4) M3 (1,3, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_jCEJXgwd7KBO
https://dl.doubtnut.com/l/_IgJEBGVxG9T9

10. 35 fisd fifg 2 At @ fegarg gat ust a3-

(2,-1,3) M3 (-2, 1, 3)

o Watch Video Solution

1. gan8 fa g (-2, 3, 5), (1, 2, 3) M3 (7, O,

1YAHIHT I&|

o Watch Video Solution



https://dl.doubtnut.com/l/_rBTapDN8Tjec
https://dl.doubtnut.com/l/_sVPZzEnNnlVo

12. 35 &9 fdgn et U33™s 33:- (0, 7, -10), (1, 6,
-6) M3 (4, 9,6) foa AHEgH! 337 € fiyug ga|

° Watch Video Solution

13. 35 f&4a fHgnf &€t u33™® d3:- (0, 7, 10), (1,6,
6) M3 (- 4,9, 6) fod AHIST f33H € YT T

o Watch Video Solution



https://dl.doubtnut.com/l/_KiEMkN3py1A3
https://dl.doubtnut.com/l/_2brN7BHSwkmY

14.J5 &9 gt B¢t U333+ (-1, 2, 1), (1, -2,

5), (4, 7, 8) M3 (2, -3, 4) & AH3T I3I57 ©

fryg aa|

o Watch Video Solution

15. 8o fdgnt @ AYT €t AHidae U3 dd fHd3
fagnt (1,2,3) M3 (3, 2, -1) 3 AHES! 3 TSI

° Watch Video Solution



https://dl.doubtnut.com/l/_vxOMXFdJHoxA
https://dl.doubtnut.com/l/_TauqtCt8aKQr

16. fign’ P 3 92 AYT €t AHldde 3™ d fHds
fdgn A (4, 0, 0) M3 B (- 4, 0, 0) 3 Edhvii &
H3es 10 JI

o Watch Video Solution

17. fdentt (- 2, 3, 5) M3 (1,4, 6) HBET T Iy

U3 Mau3 2:3 fEg (1)Med (2) §dd €3 dd6 78

fifg @ fisgew wia us 9

o Watch Video Solution



https://dl.doubtnut.com/l/_UWq7TPaZimox
https://dl.doubtnut.com/l/_foCmqcIbtV3M
https://dl.doubtnut.com/l/_krVVaTk5UoOY

18. fd37 famr J fa f&g P (3, 2,-4), Q (5, 4,6) M3 R
(9, 8, -10) AHIHT I&| BT MeU3 Y3 &a frin feg

Q,PRGESEJI

o Watch Video Solution

19. fent (-2, 4, 7) M3 (3,-5, 8) & HB™BE E&t gy
43 YZ-3% gdt A migur3 fég €3¢ J, GG U3

aJl

o Watch Video Solution



https://dl.doubtnut.com/l/_krVVaTk5UoOY
https://dl.doubtnut.com/l/_AWCa2npoVEFB
https://dl.doubtnut.com/l/_3F07KDjxhAFM

20. 3¢ H3d €' fEA3H™S ddd ©ang fd fHg A (2,

-3,4),B (-1,2,1) M3 C (o%,z) AHIYT &I

° Watch Video Solution

21. P (4, 2,6) M3 Q (10,16, 6) & HEBS T8 Iy
43 PQ & AH-3 I g5 T fignt’ € foded wix
U3t 33|

° Watch Video Solution



https://dl.doubtnut.com/l/_3F07KDjxhAFM
https://dl.doubtnut.com/l/_tdlPOfKJTgLV

22. AH33d 93d3n © Ba ua A(3,-1,2),B (1, 2, -
4) M3 C (-1, 1, 2) I&I 98 fAYa D © fadew nia
3T 3|

o Watch Video Solution

23, g f33r € fHyYa' € fsgem »id qHEg A (0, 0,
6), B (0,4, 0) M3 (6, 0, 0) I&I 3z T Higare
<t Saret 3T 33|

o Watch Video Solution



https://dl.doubtnut.com/l/_uomKREyj0dlx
https://dl.doubtnut.com/l/_eztYCW1axcml
https://dl.doubtnut.com/l/_cANjmJ23vsF6

24.79d {337 PQR € dedd HS g I w3 fHug P
(2a, 2, 6), Q (- 4, 3b,-10) M3 R(8, 14, 2¢) I& 3T a,b

M3 ¢ T HS Y3T IJ|

o Watch Video Solution

25. y-gd 3 67 fdg © fagen »ig y3T a3 fraret
fdg P (3,-2, 5) 3 €dt 5,/2 JI

° Watch Video Solution



https://dl.doubtnut.com/l/_cANjmJ23vsF6
https://dl.doubtnut.com/l/_1OVutAUhSoPP

26. P(2, -3, 4) M3 Q (8, 0, 10) & HBBE && Iy
43 3 Afg3 £ fg R T xfogen »ig 4 Jiffg R

€ foged mid 3™ dJ1 (HA3: Ha B8 RPQ B ki

feg €3er JI fdg R 2 fadew »ix

-

8k+2’ -3 ,10k—|—4 %)
E+1 k+1 k+1

o Watch Video Solution

27. Aidg g A M3 B gHET (3, 4, 5) M3 (-1,3, 7)
J5| 98 fig gdf faafis Ayg 3 HAfg3 midas

ysTag, fig PA? + PB? = Kk, fifg k mids 31

| s ]


https://dl.doubtnut.com/l/_Mrdgdw452v7g
https://dl.doubtnut.com/l/_dfo4B4GuS6ga

| @ Watch Video Solution ]

1.f933 123 fég p 2 foged nig (2,4,5) IS 3T F 2
feaea Mg Y3t a3 |


https://dl.doubtnut.com/l/_dfo4B4GuS6ga
https://dl.doubtnut.com/l/_zY9tJtNW1BlA

° Watch Video Solution

2. 8 viace »ig Y37 I3 fAn féag e (-3, 1,2) »i3

(-3, 1,-2) ATE3 I&I

| 8 l


https://dl.doubtnut.com/l/_zY9tJtNW1BlA
https://dl.doubtnut.com/l/_SmxyPvaRbE4K

3. fdentt P(1, -3, 4) M3 Q (-4, 1, 2) & fegdg gdl
Y3TId |

° Watch Video Solution

4. eaAg fa e (-2, 3, 5), (1, 2, 3) "3 (7, O,

YAHIHT I&|

o Watch Video Solution



https://dl.doubtnut.com/l/_SmxyPvaRbE4K
https://dl.doubtnut.com/l/_7oplVtTowKa9
https://dl.doubtnut.com/l/_ttlg7mdSuaVR

5.9 fdg A (3, 6, 9), B(10, 20, 30) M3 C(25,-41, 5)

féa maet f3gn & fiug g ?

° Watch Video Solution

6. ¢ fdgn A 3 B € fogen nid gHeEd (3, 4, 5)
™3 (-1, 3, 7) IS | IISHHIS fe P 2 Ug €t Aidas

y3Tdg, Ae fa PA? + PB? = 2k?

° Watch Video Solution



https://dl.doubtnut.com/l/_gykSKYV85MEO
https://dl.doubtnut.com/l/_BpkK8tV3y0r3

7. /e (1,-2,3) 3 (3, 4,-5) THBBE 3 a2 Iy
43 & mMauT3 2 : 3 €9 (i) niegat 39 3 (i) gadt

39 '3 €3< T8 fie © fogen mid U3 ad|

o Watch Video Solution

8. I¢ H3d € €93 dae JT, €gAg fd {3 fig

(-4, 6,10), (2, 4, 6) M3 (14, 0, -2) AHIHT TS|

° Watch Video Solution



https://dl.doubtnut.com/l/_dZJyOLGL3CdJ
https://dl.doubtnut.com/l/_75bVyzIOLHye

9*@“ .rFD:ré. f‘FrtIH (231, Y, zl)’ (2132, Y2, 22) })‘B
(z3, y3, 23) IS | foAE dedd € fagen wig y3r
ad |

o Watch Video Solution

10. fdgni® (4, 8, 10) "3 (6, 10, - 8) & HE BT T8
T ¥3, YZ-35 Id a3 miau3 €9 €3 J8 I,
BHS U3 I3

o Watch Video Solution



https://dl.doubtnut.com/l/_FJ1syiZ0PC5W
https://dl.doubtnut.com/l/_enLIflfFqoOM
https://dl.doubtnut.com/l/_zJoBl4qYETtf

N.ear 6 faA(,2,3),B(-1,2,-1),C(2,3,2) M3 D

(4, 7, 6) B AHT3T 9393d € fHYT I& yd3 feg

fex nfes &t I

o Watch Video Solution

12. ffg p 3 g2 Ayg & Aflages 3T I3 friaz fer
3g7 9% J g GHE! fgni A (3, 4, -5) M3 B (- 2,
1,4) 3 €dl AN'S gfdet

o Watch Video Solution



https://dl.doubtnut.com/l/_zJoBl4qYETtf
https://dl.doubtnut.com/l/_K36somFjVebn
https://dl.doubtnut.com/l/_4oVySNGwQbbc

1B.Faf3gr e dedd (1,1,1) JI Aad An3 B 2
fsgem md gHE™g (3, -5, 7) M3 (-1, 7, - 6) I&| fe
C 2 fagem Mg u3T ad |

o Watch Video Solution



https://dl.doubtnut.com/l/_4oVySNGwQbbc

